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AP Calculus
Section 7.1 Practice: Integral as net change

Show all your work!

[image: image1.png]The acceleration of a particle moving along the x-axis at time f is given by a(r) =6t ~2 . If the
velocity is 25 when £ =3 and the position is 10 when ¢ =1, then the position x(r) =




1.  

[image: image2.png]Attime +2 0. the acceleration of a particle moving on the x-axis is a(f) =t +sin. At r=0, the
velocity of the pasticle is ~2. For what value £ will the velociy of the particle be zero?

@) 102 ®) 148 © 185 ©) 281 ® 314



2.  

[image: image3.png]13

The velocity of a particle moving on a line at time 7 is v=3¢2 +5¢> meters per second. How many
meters did the particle travel from 1 =0 to =47
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3.  

4.  

[image: image4.png]At £=0 a particle starts at rest and moves along a line in such a way that at time 7 its acceleration

is 247 feet per second per second. Through how many feet does the particle move during the first
2 seconds?
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[image: image5.png]A particle moves in a straight line with velocity v(r) =1>. How far does the particle move between

times =1 and r=27
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5.  
[image: image6.png]A point moves in a straight line so that its distance at time f from a fixed point of the line is

8¢~3r*. What is the foral distance covered by the point between =1 and 1=

@ 1 ®)

vl

©

®) 2 ® 5



6.  

